2

]
@]

\\HANDLE ON

OPPOSITE SIDE

FRONT GATE BACK SIDE

/

—teal

DETAIL C
SCALE1:5

e
——WASHER PLATE w/ !
3-5/8"x 3" CARRIAGE BOLTS w/
5/8" JAM NUTS IR
@
1 @

L Tl

|

WASHER PLATE w/
3-5/8"x 3" CARRIAGE BOLTS w/
5/8" JAM NUTS

DETAIL D
SCALE1:5

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
REDRIVERARENAS. ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT
THE WRITTEN PERMISSION OF REDRIVERARENAS IS PROHIBITED.

004 STEP FOUR - LEFT FRONT GATE

REDRIVERARENAS.COM PHONE: 1-325-625-1900

SHEET 06

2

1




